
HW6-4 Soln) 

W୘୓୘୅୐ =  ∆K + ∆U 

This isn’t as bad as the previous example.  The force of the hand is always in the direction of 
motion of the ball.  We need to break the trip up into very small displacement intervals δl.  Then 
the work done by the hand force over one of these intervals is  

δW =  Fୌ δ𝑙୬ cosθ୊ౄ,ஔ௟ = Fୌ δ𝑙୬ .  

The total work done by the hand force is then 

WHand = ∑ FH δ𝑙n = FH ∑  δ𝑙n = FH 𝑙 =  FH πR = 30 π (0.6) = 56.5 J  

and, 

Wg = conservative. 

Then, 

W୒େ = ∆K + ∆U 
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       Set lowest point as y=0 

         yi = 2R = 1.2 m 
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